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INSTRUCTIONS TO CANDIDATES

1. This question paper has 50 questions. Each question carries one mark. There are four choices for answer
(A, B, C, D) to each question. Choose the correct answer (one only) for each question and write the
answer in the space provided against each question.

2. Questions have been set in English and Hindji, in case of discrepancy, the English version will prevail.

3. Candidate must write Name, Roll No. and sign on each page of this booklet.

4. The candidate should check that the booklet does not have any unprinted or torn or missing pages or
questions etc. If so, get it replaced with another question paper, before question paper starts.

5. One (A) mark will be awarded for each correct answer. There will be negative marking and (- %) mark

will be awarded for each incorrect answer.

The unanswered questions will not attract negative marking

Return the Question Paper cum Answer Sheet to the invigilator after the examination is over.

Mobile, Electronic Watch and other Electronic Gadgets are prohibited in the examination.

There should not be any cutting or overwriting in the Answer.

O Use of Unfair Means in Examination will lead to cancellation of candidature.
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Q. No. | Question Answer
The value of
1 1 1 1
- + +oit——
1+v2 V2443 3+4/4 V15 +4/16
is
(A)0 (B)3
C)-3 D) 1
1 (©) D) (B)3
LIESIGERS
1 1 1 1
-+ + fot——
1442 V2+v3 3++4 V15 +4/16
(A0 (B)3
©-3 (D)1
A certain sum of money generates a simple interest of X 1,600 over a 2-year period.
The same sum of money invested at the same rate of interest on compound interest
basis compounded annually for 2 years generates an interest of X 1,700. The sum is
(A)X 6,750 (B) X 6,400
(€)X 7,500 (D)X 6,000
5 (B) <X
e TS afSl W 2 o 1 3rafe § X 1,600 HT HTROT ST I e 81 TeRdfe s | 6,400
3 TR A AT & I 2 T 3 o7 a1fies B0 & HAT T ¥R WX 1,700 T
TS I~ BIT & | HRITR /T 8
(A)X 6,750 (B) X 6,400
()X 7,500 (D)X 6,000
24+2x2 -
If +X = , then the value of (x™') is
2+2x%2 6 X 1
8 + 1 =
1 B
A) — B) 15
(A) 112 (B)
C)— D) 21
© T (D) .
’ 24+2x2 1 Sk
+ 2 X
—l ey A xHEIAR
2+2%2 A -
8 = ] =
1 =E
A)— B) 15
(A) 112 (B)
C)— D) 21
©) T (D)
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A bought an article and spent X 110 on its repairs. He then sold it to B at a profit of
20%. B sold it to C at a loss of 10%. C finally sold it for X 1,188 at a profit of 10%.
How much did A pay for the article?
(A)X 780 (B)X 1,000
(C)X 840 (D) X 890
(D) X 890
A 7 TP T GO 3R BT A W X 110 T Q| R 377 3/ 20% F @ W B F
o &A1 B 7 39 10% & W C &l &= feam| € 3 3{dd: 389 10% S A W 1,188 § 9
& A a5g & foTg febdr e fasar?
(A) T 780 (B) T 1,000
(C)X 840 (D) X 890
HCF and LCM of two numbers is 5 and 275 respectively and the sum of these two
numbers is 80. What is the sum of the reciprocals of these numbers?
15 16
A)— B)e—=
(&) 242 ®) 275
©) 32 D) 20
221 268 ®) 16
21 AT BT HCF 3R LCM HHET: 5 3R 275 © 3R 37 M1 §eamsi &1 am 80 81 57 | 275
(A) 15 ®) 16
242 270
© 32 D) 20
221 268
If a perfect cube is divided by 7, then which of the following can never be the
remainder.
(A)2 (B) 1
©)6 (D)o
: : (A)2
I g ot o1 o1 7 § fonniore o wimg, o Fmfafaa & & @6 a1 i i Sioea 78 &
THAT B
(A)2 (B) 1
(O (D)0
A can do 60% of a work in 18 days, while B can do 40% of the same work in 10 days.
Both work together for 10 days only, C completed the remaining work in 4 days. In
how many days will C complete the same work?
(A) 15 (B)25
(C) 18 (D) 12
A Torelt T T 60% T 18 TR H o e 2, STaifes B 9 el B 409 T 10 Rt ey | M) 12
TBdT &1 ZHT Faet 10 AT 3 g v qrer w19 & €, C 919 B ol 4 fot & qur e 2
C 381 &1 I febar f&AT # 1 e
(A) 15 (B)25
(C) 18 (D) 12
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The average of 4 numbers is 24. If the first number is decreased by 2, the second
number is increased by 4, the third number is decreased by 6, and the fourth number is
increased by 8, what will be the new average?
(A)24 (B) 25
(C)26 (D) 27
8 (B) 25
4 FEATST BT I 24 €1 A TR @A 2 T A, ZEY HE@AT 4 991 < AT, ArEd
HEAT 6 T2T <1 AT 3R <eft HEAT 8 TG1 &1 S, A1 74T 3K 1 g
(A) 24 (B) 25
()26 (D) 27
5.32x56+5.32x44
Simplify = =
(7.66)" — (2.34)
(A)7.2 (B) 8.5
©) 10 (D) 12
9 ©) 10
532x56+532x44
(7.66)° — (2.34)*
(A)7.2 (B) 8.5
(©) 10 (D) 12
Speed of a train is 90 km/h. It crosses a platform and a pole in 36 seconds and 6
seconds respectively. Find the length of platform.
(A) 450m (B) 650 m
(C) 750m (D) 850m
10 | oo 37 Py if 90 feeeii/eier 21 T U wiew 3R T W 1 A 36 Webs AR 6 Febg F | (€) 750m
IR FIAT 8| THCHTH Bl waTe AT Piieid |
(A) 450 . (B) 650 .
(C) 750 #. (D) 850 HT.
If “A’ is the sister of the son of B’s daughter, how is ‘A’ related to ‘B’?
(A) Granddaughter (B) Daughter-in-law
(C) Niece (D) Daughter
1 (A) Grand
A, BRI ST S R BIagT 8, T A, 'B' T B Haferd 82 daughter
(A) Tt (B)sg
(C) Harsit (D) gt
In a certain code language, ‘go for walk’ is written as ‘bin tin win’; ‘good for health’ is
written as ‘win cin pin’ and ‘good to walk’ is written as ‘pin bin fin’. How ‘health” is
written in that language?
(A) cin (B) pin
(C) win (D) bin
12 - s G ik . : (A) cin
ues fAfSd B 91T, “go for walk® &l “bin tin win @ ST €; ‘good for health’ &
‘win cin pin’ i@l STAT & 3 *good to walk’ BT *pin bin fin’ fei@T ST 81 37 HIem #
“health’ &1 H8 fergT STTaT 82
(A) cin (B) pin
(C) win (D) bin
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Se[ect the letter-cluster that replaces the question mark (?) and completes the given
series.
WWE, UXG, RYJ, MZO, FAV, ?
(A) VBG (B) VBF
(C) UBG (D) UCH
13 ) . (C) UBG
34 AER-GYE BT I B 1y g (2) B Afawniua Hr & 7R & TE @ B gu
FT &
WWE, UXG, RYJ, MZO, FAV, ?
(A) VBG (B) VBF
(C) UBG (D) UCH
Certain blank spaces are left in the following series. Which group of letters will fit in
the blank spaces in the series?
a_cbbaa bba cbbaac b
(A)a,b,b, c (B)a,c,a, b
(C)c,a,b,a (D)a,c,b,a
14 (B)a,c,a,
frfefEe s & 7o o @ 818 T €)1 @ 7 fad ©mE # s1ert & oF gt age | ©
fthe g2
a_cbbaa bba cbbaac b
(A)a,b,b, c (B)a,c,a,b
(C)c,a,b,a (D)a,c,b,a
Choose the word which is different from others.
(A) Lamb (B) Cat
(C) Calf (D) Puppy
15 . . B) Cat
e v o o g & e (B) Ca
(A) HEAT (B) fereedt
(C) 381 (D) o
Select the correct alternative from the given ones that will complete the number series.
1,13,33,61,97; 7 .
(A) 133 (B) 141
(C) 166 (D) 118
16 o o ) (B) 141
T T feemed # | 39 HET faehed o1 9 Y S HEAT ST B g B
1,13,33,61,97, ? .
(A) 133 (B) 141
(C) 166 (D) 118
Arrange the words given below in a meaningful sequence.
(a) Ceiling (b) Room (c)Floor (d) Walls (e) Foundation
(A)edach (B)deabc
(C)decab (D)edcab
17 (A)edac
Frer fm g wree Bt wrefe o F At H| b
@81 (I (BF (AR (e)FiT
(A)edachb (B)deabc
(C)decab (D)edcab
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Where is the invisible number in the two positions of the same cube?

(A) Opposite of 1 (B) Opposite of 3
(C) Opposite of 5 (D) Opposite of 4 ( D )
s s o it

B | e @i § sgw gem w0 Oofp4p°S' E

(A) 1% faudia (B) 3 & faudia

(C) 5 & faudia (D) 4 & fagda

In the diagram given below, circle ‘E’ represents educated, circle ‘S’ represents skilled,

circle ‘T’ represents trained and circle ‘U’ represents urban persons.

How many are non-educated, non-skilled and trained urban persons?

(A) 12 (B) 13

©) 14 (D) 15
19 (B)13

frer g o o #, g 'E' foiferd 1 cwridn 8, 96 'S' B B i &, g7 T e B

ZeriaT & ok e U ety At B et 2|

(A) 12 (B) 13
©) 14 (D) 15
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Aruna cut a cake into two halves and cuts one half into smaller pieces of equal size.
Each of the small pieces is twenty grams in weight. If she has seven pieces of the cake
in all with her, how heavy was the original cake?

(A) 120 grams (B) 140 grams

(C) 240 grams (D) 280 grams
: — (C) 240
20| 376OTT 7 T P T AT TR F BreT 3R TH AT B SR ABR P BIE B F B AT | 5rams
TS BI2 T3 H1 I 419 U9 | AT I0F UTH & & Ff °1d IFS &, dl Jel b (e
v &2
(A) 1209 (B) 140 7™
(C) 240 7™H (D) 280 9™
Choose the option which correctly changes the given Active Voice sentence into its
Passive form:
(B) The
He will return the book to me next week. book will
21 (1) The book will return to me next week. b . j
returne
(2) The book will be returned to me next week. to me next
(3) To me the book will be returned next week. week.
(4) Next week the book will be returned to me.
Select the most appropriate synonym of the word:
CONTRAVENE ( D )
22 (A) Regard (B) Observe Violate
(C) Obey (D) Violate
Choose the word most nearly OPPOSITE in meaning to :
DECADENT ( D )
23 (A) Very Old (B) Knowledgeable Prosperou
(C) Rich (D) Prosperous S
The following idiom is followed by four meanings. Choose the one which best
expresses its meaning. (B) to|
to wipe the slate clean start a
24 (A) to restore order in an unruly situation geet‘t:; . ::;d
(B) to start a new and better way of behaving e ¥
(C) to make up for a lost fortune bt
(D) to remove all obstacles from one’s path g
Which one-word of the following best describes the given expression?
o That is most likely to happen in near future ( B )
(A) Impregnable (B) Imminent Immert
(C) Factitious (D) Certain
Which of the following sentences is/are grammatically correct?
A. His written statement is different from his oral one.
B. There is little hope of success. (C) Both
26 (A) A s correct and B is wrong Aand B is
correct

(B) A s wrong and B is correct
(C) Both A and B are correct
(D) Both A and B are wrong
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Identify the part which contains error.

We are/ in the final stage/ of resolving the border dispute/ { D 55
27 (D (B) ©) among the
among the two states two states
(D)
Rearrange the following parts in correct order to make a meaningful sentence.
(a) for the distribution of food
(b) isto create an infrastructure (©) (c) (b)
28 (c) the goal of public distribution system (a) (d)
(d) to the poor and the needy
(A) (d) (¢) (b) (a) (B) (b) (a) (¢) (d)
(©) (©) (b) (@) (d) (D) (a) (b) (¢) (d)
Choose the correct tense form from the given options.
55 I had finished my exercise when my friend came to see me. (B) Past
B (A) Past Indefinite (B) Past Perfect Perfect
(C) Past Continuous (D) Past Perfect Continuous
Select the correctly spelt word: B
30 (A) Garuantee (B) Guarantee (G t )
(C) Guaranntee (D) Guarrantee dalallice
Which is the third largest planet of our solar system?
(A) Saturn (B) Mars
(C) Neptune (D) Uranus
31 : L o 1)
TR TR He BT dIERT a8 871 T8 P §1 82 Uranus
(A) T (B) HTTe
() T (D) TTH
Hatching larvae from eggs laid by silk moth is called
(A) Anthrax (B) Cocoon
(C) Caterpillars (D) Pupa ( Cc )
32 .- ill
Yo % 13 gRT R T 3t & et e e & o
(A) T (B) BT
(C) P TeTd (D) Ut
Following Mahatma Gandhi, who launched ‘Kheda Satyagraha’in 1918?
(A) Mill Workers (B) Mill Owners
(C) Landlords (D) Peasants
33 . : { - Do)
HETEAT Tt ST SITEROT B §T, 1918 H T TATIE o o o e Peasants
(A) et 7eieR (B) T rfeies
(C) HIeR (D) foram
Where is the Hornbill Festival celebrated?
(A) Bhubaneswar (B) Nagaland
(C) Delhi (D) Kashmir
34 : ( B )
BT eIt HEToqd el AT ST 82 Nagaland
(A) JaFER (B) ATTIS
(C) feeet (D) BTHR
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Which of the following Indian leaders have served both as a Prime Minister and
Deputy Prime Minister?

(A) Jagjivan Ram (B) Choudhary Charan Singh

: : ( B )
i (C) LK. Gujaral (D) V.P. Singh o T
g . . ; : Ch
Freferfa & & foy wctr 3 3 o o st oo o ot S p e A e | o
(A) FTSTTEA T (B) TTeRY =voT &g
(C) 3TE . ToRTeT (D) a4t fie
How many schedules are there in the Constitution of India?
(A) 10 (B) 12
©) 14 (D) 16
36 ‘ . - (B) 12
VRA & e & T sgfear 82
(A) 10 (B) 12
(C) 14 (D) 16
‘World Fisheries Day’ is celebrated on:
(A) 26 November (B) 21 November
(C) 26 October (D) 1 October
37 (B) 21
for Aesett Ut fEaq wATT e € November
(A) 26 TT=R (B) 21 9=}
(C) 26 ARI (D) 1 AFER
In which of the following atmospheric layers all changes in climate and weather take
place?
(A) Stratosphere (B) Troposphere
(C) Thermosphere (D) Mesosphere ( B )
38 Troposphe
fefafEd § 3 fog argrsea wd 5 @ Foarg 3R 91899 giadd &id 82 re
(A) GHATIHSSA (B) &MmHSe
(OLILLES (D) TeAHSA
Which of the following economic schemes was launched by the Government of India
in 2020 to meet the challenges of the pandemic?
(A) Pradhan Mantri Shram Yogi Maan-Dhan Yojna
(B) Deendayal Antyodaya Yojna
(C) Garib Kalyan Rojgar Abhiyaan
(D) Ayushman Bharat Digital Mission )
(C) Garib
39 | FefcfEd & § S € nfeies Qe qemnd B gHfAET &1 QT S & g ¥Rd wer ﬁ?);yg‘;‘;
BRT 2020 H I[& b1 TTE &ft? Abhiyaan
(A) TETHAT 91 T HH-4 TISAT
(B) TS ST T
(C) RIS PeToT ISR AR |
(D) A 9Rd fefStea fasm J
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What is the theme of ‘International Olympics Day 2024°?
(A) Together, For a Peaceful World
(B) Let’s Move and Celebrate
(C) Together for a better world
(D) Moving Forward: United by Emotion (B) Let’s
. . M d
40 RIS 3Meifues fead 2024' &1 fawa w22 i s
(A) Zrifaquf fery o feig ves drer
(B) 3TTST 3T 9 3R AT FATY
(C) T FER T & foie web |rel
(D) 31T F&AT: HTaAT § Tha[e BHT
In PowerPoint Presentation, which of the following actions constitute animation?
(a) Fading of slide
(b) Inserting a text box
(c) Inserting a graph
(d) Specifying motion path
Code :
(A) (a) and (c) (B) (a) and (d)
(C) (b) and (¢) (D) (a) and (b)
41 PowerPoint Presentation §, Fifaf@a § & B 9 FoRaTe TR T 7Y 82 gr?d)( d; a)
(a) TATSE BT HBIBT USAT
(b) T TR TR ST
(c) TH I STl
(d) e s s
GICH
(A) (a) 3 (c) (B) () 3 (d)
(€) (b) IR () (D) (a) R (b)
are the visual effects which appear in PowerPoint when one slide moves
to the next slide.
(A) Slide Movements (B) Slide Transitions
(C) Slide Effects (D) Slide Frames
(B) Slide
A2 3 299 T € ST PowerPoint H 7 f@TE 2d 8 STe T L1838 ol &g W ;rrans't‘on
ST 2
(A) TS HIHH (B) TTss ZifSerg
(C) &TES SHaRH (D) 188 %/
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Which of the following options represent correct pairing?
(a) MS Word (i) Book writing
(b) MS Excel (i1) Delivering lecture
(c) MS PowerPoint (iii) Accounting
Code :
@ O (©
A) (@) (i) (i)
®) () ) (i)
© Gi) O G
D) @ (i) (ii)
g3 | FERETEE & @ # a1 fadsed qet afeer Bt wegd #dT e? (A)
(a) THTH T8 (i) I W&
(b) THTH TR (ii) TRAH AT
(c) THTH UTeRUTSE (iii) TR
GIES
@ (b)) (o)
W) () (i) (i)
B) @) (@ (i)
© @iy ) (i)
((O) IO (i) (i)
Which of the following is a valid range in MS-Excel?
(A) A2:C5 (B) A2*C5
(C) A2°C5 (D) A2-C5
44 (A) A2:C5
frfef@d & § S §1 MS-Excel § Teb 711 HIHT 82
(A) A2:C5 (B) A2*C5
(C) A2"C5 (D) A2-C5
Which shortcut key combination prints a document in MS-Word?
(A) Shift+P (B) Ctrl +P
y (C)Alt+P (D) Space + P (®B) Curl +
MS-Word H T ZETaw e & & foTe B it Sfeane Gofl T Tga Bidl 82 J
(A) Shift + P (B) Ctrl + P
(C)Alt+P (D) Space + P
Which key combination is used to indent a paragraph in MS Word?
(A) Ctrl + N (B) Ctrl + O
() Cirl +P (D) Ctrl + M
46 (D) Ctrl +
MS Word & T T @1 €82 3501 & for 1w ofl Gafior wgert et 82 &l
(A)Ctrl +N (B) Ctrl + O
(C)Ctrl +P (D) Ctrl + M
WiFi stands for:
(A) Wireless Fibre (B) Wired Fidelity
(C) Wireless Fidelity (D) Wired Fibre ( C )
47 WiFi &7 7w &: g&éﬁfye N
(A) TRRAT BIZHR (B) a1Te fpefeer
(C) IR fopsferer (D) TTTE BIEER
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Internet is an example of:
(A) LAN (B) WAN
(C) PAN (D) MAN
48 ) (B) WAN
T SHEHT U ITET &:
(A) LAN (B) WAN
(C) PAN (D) MAN
Which of the following group of devices are only input device?
(A) Keyboard, Monitor, Joystick
(B) Keyboard, Printer, Light Pen
(C) Mouse, Scanner, Joystick
(D) Mouse, Microphone, Speaker ( C )
Mouse,
49 frAfafEa ¥ § B 9 U7 Had STYE IUHIT 82 JScan_nfr,
(A) m’ vﬁ : - @ oySth
(B) B1eite, T, ergz o
(C) WISH, TR, Safed
(D) HI3H, HTSHIBI, T
Which of the following is the largest memory unit in the given options?
(A) Peta Byte (B) Giga Byte
(C) Kilo Byte (D) Mega Byte
50 (A) Peta
fafafad § @ #  foeea § ga8 921 A9 318 82 Byte
(A) YT STEgE (B) T aTee
(C) Tt AT (D) AT S8
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